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Question Nos., 16 to 23 are very
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30 words each,
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Question Nos, 24 1o 31 are short answer type

questions Carrying 3 marks
each. Answer these in aboyt 40 words eqcn
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(vi1)
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2.
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JAT TTT 70 = F oy

Question Nos. 32 to 34 are long answer type questions carrying S marks

each. Answer these in about 70 words each.

799 7 w9y &Y @ #E [ET 78 & 7y 5 ot ae g% w7 onaiE a9
Y& By & 01 g9t & @ onve dew o & gew g &

There is no overall choice. However, internal choice is given in all long

answer type questions of S marks each. You have to attempt only one of the

given choice in such questions.

(FEgfres )

(Objective Type Questions)

2.005 ¥ HHfE of & we ¢

(A) 2

€ 4

Number of significant figures in 2.005 :
A) 2

Gy 4

CO, & AW 59 &
(A) 22
(C) 44

Molar mass of CQ; is :

A) 22
{?)/ 44

(B)
(D)

(B)

(D)

(B)

(D)

(B)
(D)

3

3

Infinite

38
28

38
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(4 2329

e s @ & B dvg fh 2 1
A 1p (B) 2s
€ 2p (D) ad

Which of the following orbitals is net possible ?

W 1p (B) 2s

€) 2p (D) 3d

Y& Fiew dew (n) TR 1

(A) = (B) U

(C) & (D) TR & gHA @ R

Principal quantum number represents :

(A) Shell (B) Subshell

(C) Orbital @1 Orientation of the spin of electron
d-iE o F AW goesiiee g @ 1
(A} ns® nd" B) (n-1)d"'% ns®?

(C) ns®? nd'*? D) (n-1)d"10 ns?

General electronic configuration of d-block elements is :
(A) ,182 ndi-lo [B) {n_ I)d‘l—lo nSO-Q

(C} nsﬁ-z’ ndl--lU S (B( (ﬂ— lldl-—lﬂ ns2_
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(5)
ggr-16 % a7 & & oaa b
(A) ¥
(B) TR
() A o
) A B T

Group-16 elements arc known as :

(A) Halogens

{Eﬂ:halcogcns

(C) Noble gascs

(D) None of these

Rrefefe et % & FF-a1 6% ool & foe v w@R 7
(A) T AT AC-T o A FEY a3 e el

(B)  amad gl B HE-1 § G @

(C) ¥ TR-aT onad ¥ qEd afrae 9 8

(D) T T A o & W & Y gedt @

Which of the following statements is not true for alkali metals ?

(A) Thesc are largest in size in their respective periods.

81" These belong to Group-1 of periodic table.

(C) These arc strongest metals in their respective periods.

(D) lonization enthalpy of these increases down the group.

2329
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10.

(6)

CaHe A T TN & ey } -

(A} sp? (B) sp?

€ sp (D) sp*d
Hvbrid state carbon in CoHq s :

A sps | B sp

€) sp (D) spd
Wﬁﬁ%mmﬂﬂﬁmmm%:

B AU=q+w B) AU=gx w
C) AU=-g-w D) AU=w-gq

Mathematical statement of first law of thermodynamics ig -

W AU=q+w (B) AU=gxw

C) AU=—g-w (D) AU=w-gq
Rt o s 3w w39 3 R ac A 2

(A) FTH

(B) &
€ (D) & & #§
For a process to be spontaneous, AGis :
) Negative (B) Positive

(C) Zero (D) None of these
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13.
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(7) 2329

Freifefed # & BH-1 5w 4w 7L 2 :
(A HO (B) BC

© F (D) H,0

Which of the following is not a Lewis base ?

(A) HO" (B) BCIL

C) F (3y” H,0

JIves 8 NH, 3 e wgoft orar B 1
(A) NH, (BY" NH,’

(C) N,H, (D) N,

Conjugate acid for the Bronsted base NH; is :

(A) NH, (B) NH,

(C) N,H, D) N,

agEeE & Rl Hyg) + L, (g) = 2HI (g 3 for e Reds K, 9 K, =1 &9 H
Hafvea ¥ ,
(A) K.=2K. (B) K.>Kj

C) K,> K, (D) Kn=K,

In the equilibrium reaction Hy(g) + L, (g) & 2HI (g) equilibrium constant K. and

K, related as :
(A) Kp=2K, (B) K.> K,
(C] Kp > KC (D( KP = KC

P.T.O
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16.

17.

18.

19,

2329

CHy=CH-CH~CH, 3 CH cH =CH-CH, ¥ : |

(A & wrE (B) M FEl

€ em v wad: (D) wedad

CH,=CH-CH,-CH, and CHy-CH =CH-CH, are :

M} Chain isomers (B) Position isomers

(C)  Functional isomers (D) Metamers
(- )

(Very Short Answer Type Questions)

TR Srge @ P & wwerey 2

Explain the law of multiple proportion.

m%mﬁam#wﬁm 2

Explain Pauli Exclusion Principle.

HAT-ATH BEGH FH B Ie e TR 2

Explain intra-molecular hydrogen bond with example.

mﬁsg-ngﬁH%,theHzagﬁﬁgamm%:mqﬁﬁm 2

Explain why BeH, molecule has zero dipole moment, although the Be -H bonds

| are polar.

2829
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21.

22.

24.
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(9) 2329

o ot & R ara Rty 10 ¥ AGe & A F A 7 R = 8.314 JK mol ',
T=300 K. | 5

The equilibrium constant for a reaction is 10. What will be the value of AG® ?

R =8.314 JK 'mol™', T=300 K.

&% 2H, (g) + CO (g) = CH,OH (g) T 519 FRT :
i) H, R |

(i) CH,OH BM W

On the equilibrium of reaction 2H, (g) + CO (g) # CH,OH (9) describe the effect
of :

(i) addition of H,
(i) removal of CH;OH

ARRE TE T ¥ ? R AT 2

What is electromeric effect ? Give example.

eSS 1 ¥ 7 0% e ARt W i 2
What is Peroxide effect ? Explain giving one example.

(s 5)

(Short Answer Type Questions)

W*@WW#WWW{WWH%—M 0.040 ¥
(m & & 7@ & o 1 ) 3

Calculate the molarity of a solution of ethanol in water in which mole fraction

of ethanol is 0.040. (assume the density of water to be one)

P 0.
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mﬁaMﬁmhﬂmmqﬂaﬁaaﬁ%?mqﬁﬁﬂmmm
TSR H4 7 3

How do atomic radius vary in a period and in a group 2 How do you explain
the variation ?

M ] e T R R R g o AR @ e T
TR 1 e A 3

Write the molecular orbital electronic configuration of O, molecule. Calculate

its bond order and indicate its magnetic properties.

fereioien & oo i 3
() et o

() &= P

(iti) SFARHN H TS T

Define the following terms :

(i) Extensive properties

(iij Closed system

(iiij Standard enthalpy of reaction

(a) S & oA T Y N w8 T 1
What do you understand by ionic-product of water ?
(b) 0.05 M Ca(OH), faeas & pH #d T 2

Calculate the pH of 0.05 M solution of Ca(OH),.

2329
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30.

22y

(11)

MnO,  (ag) + I'(ag) - MnO,(s) + L, (s)
Balance the following equation in basic medium by ion-electron method :

MnO, (aq) + I'(ag) - MnO,(s) + L, (s)

Frefefe ARt & 1UPAC T R -

, |
[l} CH3"(i:f'l.L CHQ—C_OCZHs

OH
Hg

() CH;-CH=-CH-C-COOH

|

CH,

OOH
(i)
NO,

Write IUPAC names of the following compounds :

| i
(1] CH 3_ ICH- CH 2_ G‘ O C2H 5

OH
2H 5
(i) CH,~CH=CH-C-COOH
|
CH,
OOH

(i)

NO,

2329
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32.
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(17)

Pretfefn sfvfnal R go @ -

i \ll )l...]hlﬂ
- . Ca()
W7 \ ¢ NaOH 29U
) -'~
NO,
my | C |+ | HNO, - 8= H,S0, 5
o
QH
HH "{5;\ <m- Y
SO
Compicte the fo]]r_m'ing reactions -
-::f‘OO:'_fa
) * Naoy €29,

+ Conc. HNO, —Lonc. Hy80,

O e (O3

A
-~ Zn e |

fﬁémm)

(Long Answer Type Questions)

(@) TTHE AfER Ay B v

What are drawbucks of Rutherford model of atom 2

(b) mwﬂ:m#awmmmwm%?

th.lt ih‘ hlgniﬁ('i‘“]('(_‘ fj.f “(_Jg;

2329

Cu?

2

tive sign for the tnergy of electron in a shell ?
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o P Rt @ 3 R @ w awed @ 7 f

(@)

(b)

(a)

What doces dual behaviour of clectro-magnetic radiation means ?
HYqT
OR
et 3 o it 3
Define the following :
(i)  eprer g s
Photoclectric clfect
(i) T G
Wave number
(i) HTHY TR
Degenerate orbitals

Afean & ar S e e @ aiee (o) 580 nm ¥ 3EH AR (v) 3
a7 e (U) B URE i 2

Yellow light emitted from a sodium lamp has a wavelength (&) of 580 nm.

Calculate the frequency (v) and wave number (o).

o7 SR ol & R o el AFE ¥ went @ SRy @ g &/ @ ? 3

How will you detect the presence of sulphur in an organic compound by

Lassaigne's test ?

P.T.O.



(14)
) IR w4 0.3780 o Fdfm aa A § 0.5740 ¢ Rﬁﬂ%ﬂn;azg
&M M 3 st A s @ oFn AR "
a

0.3780 g of an organic chloro compound gave 0.5740 g of silye, Chlg,
: id

M carius estimation. Calculate the percentage of chlorine Presen .
in

Compound.
Yqqr

OR
T R W e B 7 o e e @ e AR

How are carbocations formed ? Explain their structure and stability.

34. M=l & Reg oo St
Explain the following in detail :
(a) FAS Qe \
Ozonolysis
(bj THRTTE Sferere s # Bl

Mechanism of electrophilic substitution reactions
Y

OR

Pt sl @ 90 A :

CH3 -Cs= CH + H2 __Eg.,{.g_.)

(a)

(i)
n H
..__’

(ii) T
frdfa AlCl.
i) (@) o ———"

CH,Cl + H, -

2329
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Complete the following reactions :

+

(11) CH3CI+H2 Zn, H o

(ii) @ + CH,cOCl —Anhydrous AICl; |
(b) W 3 7 od wiaRa EwT B Rie A SR A T

: ion of
Draw Newman's projection for the eclipsed and staggered conformati

2

ethane.



